
1) Write 6 x 102 as a normal number.

Answer: ____________

2) Write 50000 in standard form.

Answer: ____________

3) (10 x 92) - (7 x 1-3)

Answer: ____________

4) (8 x 34) / (2 x 1-3)

Answer: ____________

5) (7 x 25) x (2 x 2-4)

Answer: ____________

6) Write 1 x 102 as a normal number.

Answer: ____________

7) (10 x 48) / (4 x 3-5)

Answer: ____________

8) Write 6 x 109 as a normal number.

Answer: ____________

9) Write 0.5 in standard form.

Answer: ____________

10) Write 7 x 10-3 as a normal number.

Answer: ____________

11) Write 0.81 in standard form.

Answer: ____________

12) (5 x 104) + (4 x 1-9)

Answer: ____________

13) Write 4 x 101 as a normal number.

Answer: ____________

14) Write 8 x 102 as a normal number.

Answer: ____________

15) (6 x 28) / (2 x 1-5)

Answer: ____________
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16) (5 x 83) + (7 x 101)

Answer: ____________

17) Write 2 x 107 as a normal number.

Answer: ____________

18) Write 6 x 102 as a normal number.

Answer: ____________

19) (9 x 78) + (5 x 81)

Answer: ____________

20) Write 2 x 10-1 as a normal number.

Answer: ____________

Total: ___ / 20
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Answers:

1) 600 2) 5 x 104 3) 803 4) 324 5) 28 6) 100 7) 39813120

8) 6000000000 9) 5 x 10-1 10) 0.007 11) 8.1 x 10-1 12) 50004 13) 40 14) 800

15) 768 16) 2630 17) 20000000 18) 600 19) 51883249 20) 0.2
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